* %

Minusrechnen (bis 10 000)

Subtrahieren

Aufgabe 1 Aufgabe 2

1. 6221 - 4047 = 1. 5651 - 3568 =
2. 6597 - 1021 = 2. 9900 - 8690 =
3. 6643 - 3897 = 3. 8769 - 2414 =
4. 5934 - 2793 = 4. 7599 - 6546 =
5 8873 - 6463 = 5 9588 - 6658 =
6. F276 - 6582 = 6. 8706 - 5550 =
7. 8165 - 2464 = 7. 3828 - 2298 =
8 4231 - 2391 = 8. 4292 - 1560 =
9. 7480 - 3534 = 9. 9822 - 1467 =
10. 3454 - 1372 = 10, 6997 - 2044 =
Aufgabe 3 Aufgabe 4

1. 8218 - 1234 = 1. 6242 - 1905 =
2. 9662 - 2775 = 2. 8590 - 6938 =
3. 2330 - 1080 = 3. 9791 - 8548 =
4. 8374 - 7871 = 4. 9703 - 6979 =
5 9495 - 3041 = 5 4773 - 2976 =
6. 2229 - 1062 = 6. 9171 - 8214 =
7. 7808 - 7090 = 7. 8617 - 5448 =
8. 7589 - 3892 = 8. 6597 - 6475 =
9. 5775 - 5076 = 9. 6780 - 4504 =
10, 9571 - 8411 = 10. 5884 - 1299 =
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* %

Minusrechnen (bis 10 000) | ANTWORTEN

©
Qe

Subtrahieren

Aufgabe 1 Aufgabe 2

1. 6221 - 4047 = 2174 1. 5651 - 3568 = 2083
2. 6597 - 1021 = 5576 2. 9900 - 8690 = 1210
3. 6643 - 3897 = 2 746 3. 8769 - 2414 = 6 355
4. 5934 - 2793 = 3 141 4. 7599 - 6546 = 1053
5 8873 - 6463 = 2 410 5 9588 - 6658 = 2 930
6. 7276 - 6582 = 694 6. 8706 - 5550 = 3 156
7. 8165 - 2464 = 5 701 7. 3828 - 2298 = 1530
8 4231 - 2391 = 1840 8. 4292 - 1560 = 2 732
9. 7480 - 3534 = 3 946 9. 9822 - 1467 = 8 355
10. 3454 - 1372 = 2 082 10, 6997 - 2044 = 4 953
Aufgabe 3 Aufgabe 4

1. 8218 - 1234 = 6 984 1. 6242 - 1905 = 4 337
2. 9662 - 2775 = 6 887 2. 8590 - 6938 = 1 652
3. 2330 - 1080 = 1250 3. 9791 - 8548 = 1243
4. 8374 - 7871 = 503 4. 9703 - 6979 = 2 724
5 9495 - 3041 = 6 454 5 4773 - 2976 = 1797
6. 2229 - 1062 = 1167 6. 9171 - 8214 = 957
7. 7808 - 7090 = 718 7. 8617 - 5448 = 3169
8. 7589 - 3892 = 3 697 8. 6597 - 6475 = 122
9. 5775 - 5076 = 699 9. 6780 - 4504 = 2 276
0. 9571 - 8411 = 1160 10. 5884 - 1299 = 4 585
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